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FABAE AL S [ staxelD ]
AMSHIE
pesheal k=4
Xel &l
B2y
Z.g-HE -2 ol & of o olpos
HASABETH 22 1,000,000& X 23 2,000
A2, 882, EadAM E2ZA =22 (1,590)
— 530,000& X 3& X 13l 1,590
==ENSEF) GRUE+== (43,200)
- 222 3,600,000& X 12& 43,200
A2t2 HEIA TIIEE =22 (24,960)
- A2I2 260,000& X 43 X 20 X 128 24,960
2242 OI2MUEFE =2 (20,000)
— 5,000,000& X 23| X 20024 20,000
Sa4ddl gRUeE++2 850,000 X 128 10,200
CHOITMS B2 At =2 4,000,000& X 2CH 8,000
HIlZ2 RoiS2S A== (1,250)
- 125,000& X 521 X 23l 1,250
A2 22 MEHAM=+Z 117,000& X 33 351
St d2d A2 (8,000)
- 1,000,000& X 824 X 13l 8,000
Solkl 2EE o d2TM =82 (8,512)
— 439,000& X 2944 X 43 3,512
oSt 22FSAE EIIPAMs=E (4,500)
— 1,500,000& X 3MA X 13 4,500
201-2 3 2ZHl 478,931
O 32223 2 AAl (379,042)
o ASAE Mols+ ¥ X2 SHaHl (200,000)
— 200,000,000& X 13/ 200,000
HdtAatEE 850,000 X 123 10,200
HESIHAEZ 630,000& X 128 7,560
ASt=TAtEZ 12,000,000 X 12& 144,000
HOIETV=4lEg 30,0003 X 84 X 128 2,880
NS XAl 96,0002 X 12CH 1,152
NESX £E83 550,0008 X 12CH 6,600
NS HI1 2 H=SZ AL 150,0003 X 12CH 1,800
BANERE 3 (4,080)
=P, 170,000& X 12CH X 23| 4,080
&3l (770)
SZEEINZWFS AH3IH  400,000& X 13 400
SIlotMete| Xt A2l 130,000 X 298 X 13 260
LYot ESIHl 60,0003 X 13 60
EES o+& 2Lk H3lHl 50,0008 X 1Z X 13 50
O Azt (45,168)
SEANRY HEE S&= (45,168)
- 9413 X 60£ X 8AlIZ2H X 100 45,168
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S HEASEC ARSI [ ShaxalDt ]
2t 700 AFSHIS
g 1710 FHIE
2 %f gasay ChRT
2.8 HE -2 ol & o o olpos HlmE2
O Xrgrdd et (53,011)
o 5& 4,908,000& X 2CH 9,816
o & 6,551,000& X 204 13,102
o st2 4,299,000& X 7CH 30,093
O sR32zH| (1,710)
o 2R HAIR=AS 90,0008 X 1502 1,350
o ANEAIZEX EALAE 60,0008 X 69 360
202 04d| 66,960 56,160 10,800
202-1 =LY 66,960 56,160 10,800
o JI&EZH|l 20,0008 X 62% X 54 66,960
203 SR =&l 6,060 8,500 A2,440
203-4 FA2ILRFEHI 6,060 6,060 0
o JIEAH 350,000& X 12& 4,200
o =M 5,000& X 318 X 128 1,860
206 M=zl 3,842,519 3,829,701 12,818
206-1 LB =4I 759,230 698,580 60,650
O XEAZAIE 22l (3,000)
o OtMEIel 168 20,000& X 15074 3,000
O AWl S& 2tel (16,400)
o &XIJtRIL 105 30,0002 X 80M 2,400
o XZ&<% HIE 20,0008 X 350%& 7,000
o XZF$ YAAZF 20,0008 X 350 7,000
O AEzel(AEgd) (96,240)
o HE=FHII2 43F 500,000& X 443 22,000
o +=ZTMSSHEH A2E(1228) (74,240)
— 608,520& X 1228 74,240
O ot=HMelAlg 2e(2S1E) (290,940)
o FALIED] HIel 273,000& X 100m 27,300
o FYBEZ =& £F 8,800,000& X 3CH 26,400
o MNSHMEI HMel 352,000& X 55m 19,360
o ZEZEHAEX OINEXI| Ecis (19,020)
— 1,268,000& X 15= 19,020
o JIAIEZH &% 60,000& X 128 X 23 16,560
o £dX=+&I| 2SHF 800,000& X 204 16,000
o JlH=Hd A2F 30,0008 X 90H 2,700
o SUXMCIAIZAHUA sAX==EIHASEH| (32,760)
— 273,000&X60mX2 X 32,760
o HIILBXLAM  100,000& X 505 X 104 50,000
o AYUBILAM  100,000& X 105 X 104 10,000
o XNsSHUHPLCESAI2IE2,000,000& X 58 X 24 20,000

o Ot==XclH=LHIESE 1,000,000& X 205

20,000
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S HEASEC ARSI [ Bhaxi2l D
2 1700 AtHHIE
g 1710 FHIE
gk 716 XMel &
= 206 =4l
2.8 HE -2 ol & o o olpos HlmE2
o WASAIE #Z =Xt (15,840)
— 440,000& X 18x% X 22& 15,840
o B ,BE2LIs JHEH |8 (15,000)
—60,000& X 25& X 100K 15,000
O ZkxXdel Algze(2g2d) (53, 150)
o FEEXclIIHEHIRS 41,000& X 653 X 1004 26,650
o E=xXcelHZ=&Hl 4,000,000& X 43 16,000
o E=Xel MIIJIXM 60,0008 X 258 X 7IHLA 10,500
O =2 2 A2MAIE Zel(A2H™eld) (299,500)
o E&E=I &3 2,000,000& X 10 20,000
o =dXl 0|SEZ 23 8,000,000& X 4ME 32,000
o =, 422 HELH £F 1,000,000 X 105 10,000
o a2 BIEHI A2 (30,000)
— 1,500,000& X 500 X 43 30,000
o g & AAZ JIAHEY 23 (24,000)
— 400,000& X 58 X 123 24,000
o 222 NSHAHEX £ 1,500,000& X 5 7,500
o 22 =2SENHS=3I| 2H (10,000)
— 1,000,000& X 5& X 24 10,000
o 22 HiMEt £F 6,500,000& X 1CH 6,500
o 242 REE3J| £ 10,000,000& X 2CH 20,000
o &2 JRAUSZI| £ 10,000,000& X 2CH 20,000
o A2 YA L= 1,000,000& X 1094 10,000
o A2 YBSHHl £F 1,500,000& X 55 7,500
o ZEXNSEEI| NI HEIA (26,000)
— 1,300,000& X 5& X 43| 26,000
o &2 2l (30,000)
— 125,000& X 20&€ X 123 30,000
o A2 SEAH BF 250,000& X 405 10,000
0 A2 #4022 SEEFI| AE2F (2,000)
— 200,000& X 1074 2,000
0 AAUZ MAZHI| ARE (4,000)
— 1,000,000& X 44 4,000
o0 AAUZ ARFE HAMHAIL 65 (10,000)
— 10,000,000& X 14 10,000
o SoiststEE I A4ALDZ2IANE (20,000)
— 20,000,000& X 14 20,000
206-2 2=l 3,083,289
O ot=HMelAl8 AZ(AMEE) (9,000)
o &cl& AXEH 1,800& X 5,000kg 9,000
O ot=HMelAld AE(2F1E) (1,042,008)
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2 1700 AtHHIE
g 1710 FHIE
g@: 5(1)2 ﬁ%%ﬂl (ced &
2.8 HE -2 ol & o o olpos HlmE2
o E=EHAMI HMHEAHF (140,000)
— 3,500,000& X 0.25& X 80 X 204 140,000
o FZTHMXNA=4Hl IOIELAMUES (74,880)
— 520,000& X 1.28 X 60 X 204 74,880
o O{X ZelH (67,320)
- 5,100& X 1,100kg X 12& 67,320
o X =clFst L=20IsH (743,808)
— 160& X 387,400kg X 12& 743,808
o0 2XEAIZPOA-PEEHIIAZS LAY (16,000)
— 16,000,000& X 14 16,000
O ZkXMelAd 29 (292d) (103,920)
o FaXclE EFLH XNOELAMUES (7,920)
— 825% X 8002IE X 123 7,920
o E=MalE EHA (96,000)
- 3,200& X 2,5002I& X 122 96,000
O g5 22ANE 2 (22X elE) (1,928,361)
o SINV2ASEA (1,676,783)
oHAb 3,080& X 40,500kg X 123 1,496,880
2 4,543& X 3,300kg X 122 179,903
o JteACh 180& X 500,000k 90,000
o E4tH 2,500& X 219 548
o 443l 1303 X 260kg X 219 7,403
o EHE 11,2343 X 26kg X 2192 7,027
o HZH 60,0008 X 308 X 128 21,600
o A% 5003 X 250,000kg 125,000
207 oK 2| 17,388 17,388 0
207-3 A& &S| 17,388 17,388 0
O ANEgss 7g (17,388)
o SIEE AARIY AEE A2 2 275 (17,388)
— 621,000& X 28%& 17,388
212 =c|=4d| 77,685 71,490 6,195
212-1 M3IEERES 29,657 29,462 195
O JIZHMZ22 X AUXSHHEPES (29,657)
=0z REZ 278,345,0008 X 4.5/10 12,526
NEEEE 278,345,0009 X 1.5/ 4,176
LA THOH 2 & & 278,345,000& X 1.42/100 3,953
S0HAEEE 278,345,0008 X 3.035/10 8,448
AIRLYEE=8,448,000& X 6.55/100 554
212-9 JIEt=cl= 4| 48,028 42,028 6,000
O =&l (41,248)
o JI&EZHl 7,000& X 62% X 72 31,248
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S HEASEC ARSI [ ShaxalDt ]
2 1700 AtHHIE
g 1710 FHIE
g@ g}g g%}éﬂhl (ced &
2.8 HE -2 ol & o o olpos HlmE2
0o ExYRSHI(2X E2AI4) 10,000,000 10,000
O 1=tl (6,780)
o BHAZR Xg=(gst=) 100,000& X 39Y 3,900
o 2R &3t 60,0002 X 39H 2,340
o &&J2 90,000& X 6% 540
213 W= 7,850 7,500 350
o &ot=EHEWS 300,000& X 15°& X 13 4,500
o Holgd&elel W= 350,000& X 2 X 13 700
o HIIEJI=2elel s 100,000% X 29 X 13 200
o RE=22l2l W= 50,0008 X 2% X 18] 100
o HJI|erdzZe| Xt WS 120,000& X 2% X 13 240
o S&elFH=A WK 50,0008 X 2% X 18] 100
o FIE=H=X WK 50,0008 X 2¥ X 18] 100
o Aotz W= 160,000& X 1¥ X 13 160
o &HOrMEE| A W& 350,000& X 28 X 13 700
o =&TMS =2J|l= W= 350,000& X 3% X 13 1,050
214 =KX WHH 6,001,732 7,983,660 A 1,981,928
214-5 J|EtW M Hl 5,863,423 7,926,200 N2,062,777
O ot (BR)MolAlg el (22lE) (155,513)
o AFANE=2 KA 2L (75,513)
- 3,000& X 25,171m’ 75,513
o E4X JIAHEH =clhl (30,000)
— 30,000,000& X 1CH 30,000
o XA&F&2 KFXIE=50,000,000& X 14! 50,000
O AEAIE(ANEE) (7,980)
o A&EJIJl |XIE=  380,000& X 21CH 7,980
O ot=HMel 2EAE(2S1E) (868,130)
o ARl JIHEH =& 20,000,000& X 3XI 60,000
o SYEBEZS JIAHLH =& 15,000,000& X 3CH 45,000
o +EEZ JIAH&H =& 15,000,000& X 3CH 45,000
o Z=x,ZSEHX JIAHLH = (36,000)
— 18,000,000& X 2CH 36,000
o 1A= XN=&II22 & = (80,000)
— 8,000,000& X 10CH 80,000
o 2= XN==EII22 ZH = (80,000)
— 8,000,000& X 10CH 80,000
o ot==Xcel JIHAIEE T&24,000& X 600m X 30H 43,200
o EE¥X,MFET E&115,000& X 650m 74,750
o 3dlels =& 4,500,000& X 5CH 22,500
o BtExX £3JIS =4 41,890,000& X 20H 83,780
o FEXEX J|IALHl =& 20,000,000& X 3CH 60,000
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FAGHEEAR S [ Stam2ID ]
AMSHIE
pesheal k=4
Xel &l
=d 7 X Wb
Zog-HE-2 ol & o o olpos
B3z BEZS JIAHEHI=&7,000,000& X 404 28,000
St=xel AHSHOHAH 2=&4,000,0008 X 10902 40,000
HESALH =& 100,000& X 4504 4,500
FHAS WAL Hl =& 700,000& X 22CH4 15,400
AEAH =& 1,000,0008 X 10044 10,000
SHIISEPLCHIHHE =&2,000,000& X 10CH 20,000
Ste=Xxel &I|, HEAHl+=&6,000,000& X 20CH 120,000
FaHMelANE 2 (2928) (822,350)
T M2 JIHEHI2=&18,900,000& X 5CH 94,500
HMHHAEE ZS0HM =& 84,000,000& X 23] 168,000
FhaXel #IAELd =& 6,000,000 X 292 12,000
HIAZEI| =& 2,000,000 X 24 4,000
FLHM2IHAMNESEE 24,000&X600m X 1002 14,400
A2 ZAIAH 0l™ 21,000,000& X 14 21,000
MSBEHIIE Helbl (508,450)
A2 160,0008 X 1,400 224,000
&= 253,000& X 650& 164,450
Z S &AF 120,0008 X 1,000 120,000
g U AAAL(A2AH2E) (4,009,450)
o Hiax2=z FIIEZ JIHEH =2l (216,750)
3= 2 =& 20,000,000& X 1A 20,000
=ikl 0l&&Hl =& 15,000,000& X 2CH 30,000
HEBALH =& 7,250,000& X 344 21,750
SZJ|1 =& 3,500,000& X 2CH 7,000
MAFEI| =& 3,000,000 X 1CH 3,000
222 220 WM (157I1) 12,000,000 X 14 12,000
A2 MIIFEI| =& 18,000,000& X 1CH 18,000
Skl £ =& 9,000,000& X 2CH 18,000
SJ12=J] =& 5,000,000& X 3CH 15,000
A2 BHE&HI =& 20,000,000& X 1004 20,000
HZEE2H A& 15,000,000& X 1002 15,000
BHAXCI 8 ¥ HSE &E4 6,000,0008 X 2CH 12,000
SHEIZ &4 3,000,000& X 5CH 15,000
&4 A 5,000,0008 X 2CH 10,000
o HM2a2=z FIIEZ JIHEH =2 (182,000)
HAZEI| HE  20,000,000& X 1CH 20,000
S 12,000,000 X 10HA 12,000
HEE2dH M2 15,000,000& X 1CH 15,000
SANEE 2 258 =& 6,000,000& X 2CH 12,000
&2 =4 20,000,000& X 2CH 40,000
SHEZ =& 3,000,000& X 5CH 15,000
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ANHIE
oAbl
Egg;iﬂﬂlﬁl (ced &
2.8 HE -2 ol & o o olpos HlmE2
SII2=I] =& 5,000,000& X 2CH 10,000
s Xl §I] =& 9,000,000& X 2CH 18,000
22T HiE&dl =& 20,000,000& X 1CH 20,000
& &I =4 10,000,000& X 2CH 20,000
o =) =M (232,000)
A& E=I] 20,000,000& X 6CH 120,000
HWEAE D] 4,000,0008 X 3CH 12,000
1€2=3 JIAH&H =& 10,000,000& X 53 50,000
2€ =3 JIAHLHl =& 10,000,000& X 53l 50,000
o ExsSHISHSSIILM 120,000& X 170x 20,400
o NSHO HE&H =& 500,000&8 X 504 2,500
o FEN MAEX YLOl2lLAM 1,400,000& X 2CH 2,800
o &AYEZ MI|HZHl =& 5,000,000& X 105 50,000
o 1422 JIAHIZHl =& 10,000,000& X 105 100,000
o 2422 JIAHEHl =& 10,000,000& X 103 100,000
o AEZE HIIZE HMalhl (3,095,000)
St==d Xl fIEHMel 110,000& X 27,0008 2,970,000
22ATHRIE K el 50,0002 X 2,500& 125,000
o TMS BSAIAE =& 8,000,000& X 1CH 8,000
214-6 A2 ZHIS X 138,309 57,460 80,849
o HEFEH HAE= 800,000& X 12 9,600
o RHI ¥ =AMSEI =X 2yl (800)
— 400,000& X 2= 800
o HIOIESE % MSAE KX (10,000)
— 1,000,000& X 10902 10,000
o AFX ZEFEYI ¥ HM=I FA2L (11,650)
- 2504 1,5613% X 8¢ X 1904 X 30 6,900
— S Xdl 250,000& X 19CH 4,750
o Ol FA L X2 (9,900)
— 450,000& X 22CH 9,900
o HzelAMAH SANEx (3,240)
— 270,000& X 12& 3,240
o ot 2=Xal NSHAHE |FAES (15,600)
—1,300,000& X 12& 15,600
o E1gE KFAUES (8,400)
— 700,000& X 12& 8,400
o SA&EH FANE=x (4,800)
— 400,000& X 12& 4,800
o 2ZAE TISHOAAE RXE+ (9,600)
— 800,000& X 123 9,600
o 22421250 HZ ¥ RANE=S (18,000)
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s @710 godl=
g@ g}g Egg;iﬂﬂlﬁl (ced &
2.8 HE -2 ol & o o olpos HlmE2
— 1,500,000& X 122 18,000
o CCTV |RAE= (14,400)
- 1,200,000& X 12& 14,400
o ol=HMold FLFHEAHI (22,319)
— 22,319,000& X 14 22,319
215 =l 5,489,172 5,126,736 362,436
O A&Its &) (5,039,472)
o JI2g 8,320& X 5,800kW X 122 579,072
o AEZ2 118& X 3,150,000kW X 123 4,460,400
O AN&Its dg (449,700)
o RMAHZ(A2Z) (402,000)
— 1,000& X 600£ X 2CH X 335 402,000
o RxBE & &) IS8 R (47,700)
— 1,325& X 1,0004 X 12& X 304 47,700
300 B&01™ 95,286 75,286 20,000
302 OIF=L o2& = 13,750 13,750 0
302-2 2I2tol THoll & SFRESEAS 13,750 13,750 0
o A=Y sFX s 24 (3,750)
- 1,000& X 3,750m" 3,750
o BAEMIEE 4 400,000& X 250+ 10,000
307 2IzZtolA 81,536 61,536 20,000
307-5 QIRIES 81,536 61,536 20,000
o FHOIS YAALrsE K (32,600)
— 50,000& X 1637t+ X 43 32,600
o F&tH = BHYHEESA 1,700,0008 X 1E X 1228 20,400
o AtEAU A2 ZEas EH (5,500)
— 1,100,000& X 53l 5,500
o &cls FeFH 2H 253,0008 X 122 3,036
o ZootrHMelXU=TIHEEZXlAE FHOISLS (20,000)
— 50,000& X 1000t X 43 20,000
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2t 700 AFSHIS
g 1710 FHIE
2.8 HE -2 ol & o o olpos HlmE2
700 At HIS 15,435,550 14,325,437 1,110,113
710 SHHIE 15,435,550 14,325,437 1,110,113
716 Xcl &Hl 15,435,550 14,325,437 1,110,113
100 & 2| 241,095 642,263 A401,168
101 Q124d| 233,175 618,743 A 385,568
101-1 2= 150,447 590,519 A440,072
O Jle=s (78,744)
o 7= 3,281,000& X 2% X 122 78,744
O =4 (57,886)
o ZU22SE (35,855)
SHPAH 9,3328 X 298 X 80AI2F X 123 17,918
ORI22=2 31112 X 18 X 8AI2t X 3652 9,085
S22 75,0124 X 18 X 118 8,852
o 0= (12,911)
HeBRE =Y (3,229)
6=0< 3,281,000& X 4.1% X 28 X 128 3,229
d2=+Y 78,744,000& X 1/12 X 50/100 X 23l 6,562
H2EIR3 (3,120)
— 25E 014 130,000& X 2% X 128 3,120
o HAHEE+E (1,920)
s (1,920)
<> X+ 40,000& X 2% X 122 960
- ZEHIZ 20,0003 X 4% X 128 960
o Sx2R=¥ (7,200)
E 2R+ (2Z3B) 50,0008 X 2% X 12€ 1,200
ExRsg (6,000)
- Zeds<(ot=Al4) 250,0009 X 29 X 12& 6,000
O A=A (3,120)
o 2BHA 130,000& X 29 X 128 3,120
O ZEFIH (7,875)
o YA 78,744,000 X 1/12 X 60/100 X 23| 7,875
O ¢ItE & (2,822)
o g (2,822)
— 78,744,000& X 1/12 X 86/100 X1/30 X 15¢ 2,822
101-2 JIEt A2 == 82,728 0 82,728
O Jles (39,494)
o HERZFEF 3,291,100& X 1% X 1228 39,494
O =% (43,234)
o Alztel==g (26,896)
SHUEAM 9,322 X 1E X 80AIZt X 12 8,959
ORI222 3,112 X 18 X 8AI2t X 3652 9,085
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o Z2RSE (12,606)
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O ZEFIH (13,645)
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e}
2
()]
M
H
M
=2
=

S HEASEC ARSI EEEER
2 1700 AtHHIE
s 710 goH=
g@ 5(1)231 J;;H?Ejgi (ced &
2.8 HE -2 ol & o o olpos HlmE2
o ot=& B8 N7 (40,988)
SIS20ISEZ 78,0002 X 500H 3,900
HE 52 340,000& X 1574 5,100
b & XIHH 100,000& X 10004 10,000
S8 399,000& X 1004 3,990
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